ooooood
ooooooF

oooooonon

oot

Ooon

20130 0



010
1.1
1.2
1.3
1.4
1.5
1.6

020
2.1
2.2
2.3

030
3.1
3.2
3.3
3.4

goobooon

gboobodgd
gooo ...
gooog ...
gooboodgg
gboobodgd
goood .

O
0

goboboooooboo

gogogoooo
ogoooooo
GaussO O QOO

goboon
gboodgo
gooo ...
gbooodgg
gbooobodgd

I
I
U



10 Udddotdn

ooooooboboobooogooo c*boooogoooooo

1.1 0O0O0obooo

gobbbouodobbbuooogbbbuoodobbboooobobb

00 1.1.1 00000 /0000 R?0O0000 pO00O0OI0000O0OO0O0OO
0O00000p00 p()OODODODOOOp: I -R2O00O00O0O0O0O0O00O0OO0
gooo

gbbodgbbuogobboobboobbuooobooobooobooobo
gobbbuooobbbooogooboooobboboooobood

1.2 0000

00 121 0000000p:/»R2000000C=p)000 L(C)D

L(C) = /I

goooboobooboobooboobobooboboobobbuobtbaeer

dp
— | dt
dt

oodQ t

dp

ty= [ |=|dt

o= [ |2)
0000t000s()000000% =|%2|>00000s(t)0000¢(s)00
O0p(s)=p(t(s) 0000000000000000000 20000000

gbbOsgbboboogaoboo

O00000o00o0oo0Odp: I —-R2O000 el(s):‘;—gDDDDDDDD
00 e(s)D000e(s)0000000 7/20 000000000 ex(s)0000
R20000 (,)0000 (ex(s),ex(s)) =10 s00000000000 %
ex(s) 000000000000 %) = k(s)ey(s) 00000 (e(s), ea(s)) =00
(es(s),eqx(s)) =10 SDDDDDDDDDDDdedz—is):—/€<8)el(8)DDDD



2 g1 0Oodogogooboo

00 1.2.2 k(s) 0000000000

dey(s)
ds

des(s)
ds

= ri(s)ea(s), = —r(s)ei(s)

U Frenet OO OOO0O

00 123 ¢0¢0000000000000000000000000000
00000000000000000¢0é00000000000000000
0000000000 «x00000s0000000000k(s)0000000
00000 ¢(s)000000

1.3 0000

00 1.3.1 00000 /0000R 0000 pO0O0O0OI0000O0OOOOO
O00000p0O0p(HOODDOOOOp:I-RPO00D0O0OD0O0O0O0O0OOO
goon

00 1.3.20000000p:/»RO00000C=p)000 L(C)O

L(C) = /]

gobooooboobobobooboobobooboobuooboobboobdbaeelr
—|dt

oo .
t:
s(t) / dt

D000¢000s()000000% =% >00000s(H) 0000 ¢(s)00
00p(s)=p(t(s)) 0000000000000000000 20000000
0000sO000000000000

dp
=l dt
dt

dp

O00000oo0ooOodOp:I—-RO0O000O el(s)z%DDDDDDDD
del(s)
d

00 e(s) 00 000OkK(s) =
dey(s)

000000 k(s)00000k(s)#000

00000000 = k(s)es(s) 00DODOO0D0D ex(s) 000000

00000000 es3(s) =e(s) xex(s) OO0 es(s) D00 OOOO sOODO
O ei(s), ex(s), es(s) 0 REOODODODO0ODO0OODODOOODOOO0OOODOOOODOOOn
Frenet-Serret OO0 OO0 O0O0OO

dey(s)
ds

— k(5)ea(s), de;f) = —w(s)ew(s) + 7(s)es(s),

des(s)
ds

= —7(s)ea(s).



14 OO0OOCOQOGQOOooOog 3
~ d?c d*e

o0 1.3.3 ¢ CDDDDDDDDDW#O,P#ODDDDDDDDDDD
s s

gogogoobbbbobobbobbbbobbddduooooooobbon ed
cudddooooooooobbbbbbbbbbbbbb sk>007-000
O0sO0000000000k(s)000(s) 000000000000 ¢(s)00O
gooo

1.4 O00OO0OO0Ooogg

gobbbuooobobbooogboobooooboboooobo

00 141 OO R?0O000w,v0000R?0000 DOOODORO0O0OO0 p
oooo p,p, 0 DODODODOOOO0O0O0OOODOOOOPOOp(D)OOOOO
O0p:D—RO00O0O00OO0O0O0OOOOOOOO

gbbodgbbuogbbuoobboobbuoooboooboooboboobo
gobbboooobbboooooboboooobbobooooobooa

1.5 O000000obooooo

0000000000 p:D—R3O0O000p,,p, 0000000000000
R0O0D0000000O00O00O00O00O00O000000000000 py,p, O
0000000000 O00O0O00

(Pus Pu) <pu,pu>]

(Do, Pu) (Do Po)

goooood E:<puapu>a F:<puvpv>:<pvapu>a G:<pvapv> ooodogd
E F
gbbooobodgnbood FG]DDDDpu,pUDDDDDDdu,dUDDDDDD

000000 Edudu+ 2Fdudv 4+ Gdvdv 00000

p,xp, 00000000
Py X Py

P, X P,
000000000000 (u,w) € DOODOO0OO0OOOO0O0O e = e(u, vo)
000000 flu,v) O

f(u,v) = (eo, p(u, v))



4 g1 0Oodogogooboo

0000000000000 (uw,v) 0000 flu,v) DOOODODODOOOODODOO
U000 Hessian OO DO OOODOOODOODOO HesstanODOOODOOOooooO
ggooobdyp,p, DOO0O00L0ODOOO0OO0ODOOO

(€ Puu) (€ Puy)
(€, D) (€ D)

00000000L = {(e,p,.), M={e,p,) ={ep., N={(p,) 00000
L M

goooooboboogo MON 00D0000boooon Ldudu42Mdudv 4

Ndvdv OO OO0

(e,e)=100e,,e, 0000000000000 0O0OO0OOO0O0O0O ey,e,0

p,p, UOUOOODODODODDODUO0O0O0O0O0O0O0OOODODODODOO

_~GL+FM_ FL-EM
eu_ EG_FQ pu EG_F2 p’U’
_—GM{FN  FM-EN
©T T EG_f PTG P

gogo

1.6 0O0OOO

o0 1.6.1 000000 OO0O0OOO0O0OO krykeUOOOOoOooooooon
00000 K=rkkrOGaussOO OO OOoOonO H:%(/$1+/§2)DDDDDD
oo

00 162 0000000p00000D000000 GaussOUO KOOOODO H
gogobobouoodd

<6,puu><6,pw> B <€,puv>2

(P Pu) Py Po) — (Pus Py)*

(Pu> Pu) (€ Pyy) = 2(Pus Py) (€, Puv) + (Pos Pu) (€5 Puu)
2((Pu Pu) Py Pu) — (Pu> Py)?) '

K

H

000 E,FG L, MNOOOOOOOOO

LN-M?  EN-2FM+GL

K=%Fa—rm "= 3@Ec-m




20 O4040odoonongdn

21 0UO0O0oobooooooboogod

ogd 2.1.1 DDDDCDDDDDDDDDDDp:[—>R2DDDDr>ODDDD
T.(C) = {p(s) + tes(s) | s € I, =r <t <1}

000007 <1/max{|s(s)| | s€ I}00D0OT,(C)000 A(T,(C)00000
ooooo
A(TL(C)) = 2rL(C).

D00O07,(C)00000000000A(T,(C)000000000000

ggobbbboudgoooobbbbbooooooobbobobboado
gobbobuoooobboooobobooon

00 2.1.2 0000 CO000000000O0p: I —-R20O0000r>00000
S(C) ={p(s) +tes(s) [s €, 0<t <r}

00000r <1/max{|x(s)||se€l}0000

00 213 p:/—-R20O000000000000O0O0ODOOOOOOOOOO

DDDDDDDDDDD/K(S)CZSZQWDDDDDDDDDDDDDDDDDD
I

//ﬁ(s)ds =-2r0000
I

00 214 0000000 CO0OD00000O0O0O00OO0OOOO0O p:1I — R?
O0000<r<1/max{|x(s)|}0000



6 20 0O0OO0doogboobood

00 2.1.50021.10000021.20000000000
Cr(C) = {p(s) +res(s) | s € I}
00000

d2
oo 2.1.6 DDDDCDDDDDDDDDDDp:I%RQDDDD—ZZ#O,r>O

ds
gooo

B? = {(u,v) € R* | u* +v* < r},
T,(C) = {p(s) + uey(s) +ves(s) | s € I, (u,v) € B}

000007 <1/max{x(s) | s€ [}OOOOT,(C)000 V(T,(C))DOO000O
ooooo

22 0O000OO000OO0OOO0OO
00 221 p:D—-RO00 SO000000O00O00OOr>00000
T.(S) = {p(u,v) + te(u,v) | (u,v) € D, —r <t <r)}

O00000r < 1/max{|k1(u,v)],|k2(u,v)| | (u,v) € D} OOO0OT(S)0O0O00O
gogooooooo

V(T,(S)) = 2TA(S)+§T3 /S KdA.

0000dA=|p, X p,|dudv 0000

00 22200221 0000000000

TH(S) = {p(u,v) + te(u,v) | (u,v) € D,0<t <r}
0000O07+HS) 0000000000000
V(T (9)) = rA(S) —r? /S HdA + %r?’ /S KdA.
00 223 00221 0000000000
Sy(S) = {p(u,v) + re(u,v) | (u,v) € D}

ooooos(S)ooooooooooooo

A(S,(9)) = A(S) — 27“/SHdA+r2/SKdA.



23. GaussOQOOQOQ4d 7

2.3 GaussUOUQO4dQd

00 23.1 000 GaussOOOOODOOOODOOOODOOODOOOOODDOOO
good

00000 py, Py = Py,Py, 0 RPO00 p,p,,e 10000000000

Pyu = F%lpu + Pflpv + Le’
puv = F%2pu + F%QPU + Me = pvu = F%lpu + Fglpv + Me’
D,, = F%2pu + Ingv + Ne

0ooO0 ;00000

E F
F G

1 1
§E§L I%Ev F, 1— 3Gy
Fu - §Ev §Gu §Gv

[ Ty T
M I 15

D00DOMED B, FGOO00000000000000000 PuyeD Pue U
00000000000

1 /ory or
K= - 1 9l
E ( ov ou

D%, 4 12,18, — TLT% — rm)

o0oboobOob0O0OKDO FyF,GOO00b00b00ob0obobooobonDon
ERERN



30 bougg

goobobbobbboooooobobobbbodoooooobboobood
obooboboooooboobobooboooboboooboobOobOon Gauss
ob00ob00ob0O0ob0o0ob0obOobOobUobuob GausssOOD OODDOODOOODO
goggobbbbbodoooooobbbbouooooooobbbbbodao
goggobbobobbodgoooobbobbbouoooooboobobbodad
gogoobbbbbbodoooooobbbbbobouooooobbboboboad
ggobobuoooobbooodn

3.1 UOooouog

O0000DO0O0O000DO0O0O000DOOO000oOOn ArchimedesO OO0
Ub00ooooo0oboboi0bd Lambert 00000 OO0OO0OO0OODOOO
r>00000

¢ SH(r) x [-r,r] = S*(r) ; (w,y,2) — (\/TQT_ ZZQ:, \/TZT_ Zgy,z)
0000 ¢D0000O0SY(r)x[-rr]000000O0
p:[0,27] x [=r,7] = SY(r) x [-r,7] ; (0,2) > (rcosf, rsind, z)
0S(r)00000000¢=¢0op00000¢00000000000000
P X pz| = lgo X g =7

000000 0000000000000 0O0O0DOOOO SYr)x[-r,r000
0000 60000000000 S*)(r)000000000000O0O0

A(SH(r) x [—r,7]) = A(S*(r)) = 47>

3.2 0U0OOO

ggobobbbbbdoooooobbbbbouooooobbobboodao
ggboboboooobboboooobbobuoooobooboo



3.2, 0OO0OO 9

00 3.21 000000000000 O0O0ODOO0O0 w,v0000 Cauchy-Schwarz
gobooodg
{u, v)

— <1
Jul - [o]

0oooo
{u, v)

Jul - o]
D00D00<9<700000000000600wv00000000 Z(u,v)0
000

cosf =

00 3.22(0,VvOo0000d0oo0oooooooooooon f:U—-voooo
oooooooboo fobovoboooooooovobobooooooooDo
gogboboooobbbouoogobobbod ebgggn

{(f(u), f(v)) = c(u,v) (w0 €U)

gobboooogbbodao

gt 3.23 000gubboooobbuoogbboooobobooobboo
goboobooogn

00 SO0 S0000 f0000000000000 ¢,6: (—€,€) = SO
a(0)=c(0)0000000

Z((f 0 c)'(0), (f 2 2)'(0)) = £(c1(0), &5(0))

O000O0O00b00O00b0bO00 322000500 0000000O0O0O00O0ODO f
00000000 SOD0O00C0O00000UUUooooooDoooOoOOoOOoOO
OSO0000000O0bO soboboooboo

00 3.24 00 SO00000000p:D—-RO0DDOODOOOOOOOOO
OO0o0OoooosSOobooboobDpib0Ob0ODO DOODw,v0ODOODODOO
v,oJOO0O0ogoooo

O0000o0D000 Edudu+2Fdudv+Gdvdo OO0 000000 wODOOO
goboooboobooooboooo P=G, F=00000000000000
000000000 E(dudu+dvdv)D00000000O00O0O0OOOOODOO
goooo

xz000 000000000



10 g3 DOoodd

Ux000000000000000b0bb000
p(u,v) = (ucosv,usinv, g(u))

gogobbobbtbouooooobobbbbouooooooobobobbobogd
ggobobbooogooo

u

2
1 / 2
(1+ ¢'(u)?)du® + v’dv® = u? <+—g(u)du) + dv?

Uidbd«000 wl

dw /14 g'(u)?

du U
Of0o00oooooooooooon u2(dw2+dv2)[]DDDDDDDDDw,UDD
O0oooooooooo

3.3 oo

D0000000000000000000000000000000000
0000000000000000

0000000 y00000000000000 g(u)=+vr2—w200000
00000000 wO

/ du
w=r | ————.
W=
yw=rcosf000000O00O0O0O0OO0OO
/ —7rsin 0d6 do (9 7T)
w=r =— | — =—logtan [ =+ — | .

rcos0vr?2 —r2cos20 cos 6 2 4

00 1/cosf00D00O0O00O00ODODODODODODOOOOOOODOODOODODODOOO
O00000000000000000 (rcosfcosv,reosfsinv,rsing) 000

go00ogoenodogoono
log ta 9+7T
v, — nl-=-+—
b g 2 4

ggbobobogogbboboooobbobuooooboon

v, log tan Q—l—z
, 10g 571

gbooooooooooooboboboobooooooooogn Mercator
gogooboogd



34. DO0OOOoon 11

Mercator U0 00000000000 O0O0OOOOOOOOOO0OAOODOO
Oo0o00000000000O0Mercator 000000 oonooonbooon

¢(0) = log tan (g + %)

dp 1
df ~ cosf
000 (—n/2,7/2)0000 )00 0000000000 ¢: (—7/2,7/2) =R
O0000000000Mercator0 0000 (0,2r) x ROOOO
0000 (0,2r) x ROO Mercator 0000000 ¢0000000O0O0OOO
000o0o0o0oooooooa

goboboooogoon

p(v,0) = (rcosfcosv,rcosfsinv, rsinb)

O000Oph,) 0000, 0000000000000

D(p(v,0)) = (U=logtan (g - %>>
ogood

Py = (—rcosfsinv, rcosf cosv,0),

po = (—rsinfcosv, —rsinfsinv, r cosf)

gobbooooooboodan

1
dd(p,) = (1,0),  d®(pg) = (0, —— | .
) =0, aa) = (0.
0ooboobooooobboboooobobboo x,ygooo
72 cos? 0{dP(X),dP(Y)) = (X,Y)

gboboednooboobooboonDg

34 UO0O0O0OOOO

000000000000000 1/cosd00D0DDODODODODODODODODOOODOO
gobbbuoooobbbooodobbbn



12 g3 DOoodd

gogd obobbobbbbtbudoooouoooooobbbbobobooagd
gogooo

¢ do ¢ db ¢ db
/0 @:/0 sin(0 + 7/2) :/0 2sin(0/2 + /4) cos(0/2 + 7 /4)

(%1 [cos(0/24m/4)  sin(6/2+ 7/4)
_/0 §{Sin(0/2+7r/4) 005(0/2+7r/4)}d0

= [logsin(0/2 + 7 /4) — log cos(8/2 + 7T/4)]§ = [log tan(6/2 + 7r/4)]§
= logtan(¢/2 + 7/4).

O00 t=sind000000000O00Odt=cosfdd0 0 00O0OO0O0OODO0O
ggooboboogoboon

¢ ¢ ¢ sin ¢
/ do _ / cos f g0 — / COS: 92 g0 — / dt
o cos@ o cos?f o 1—sin“60 o 11—t

—/SM1 o Y Y- S iogtan(e/2 + 7/4)
)y 2\ige 1) T T ee )

g DDDDDDDDDDDDDDDDDDDDDt:tangDDDDDDD

1—¢ . 2t 2t 2dt
cos = ——, sinf = ——, tanf = -—,
14 ¢2 14+ ¢2 1—¢2 14 ¢2

ggbbbuooooboobbboooobboboan

/¢ 9 /tan‘é’ 1+42 24t /mn%“ 1 1
= —_— = — —— | dt

= ... = logtan(¢/2 + 7 /4).




